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If x = 15, what is the value of 3x?

62/. of the sweets in a bag a red.
What percentage of the sweets are not red?

Mul‘l’iply Y7 by S

Add 2,999 1o 18,346




If x = 15, what is the value of 3x? 45

62/. of the sweetsin abagared. 38/
What percentage of the sweets are not red?

Multiply 4.7 by 5 235

Add 2,999 to 18,346 21,345




L esson AiIms

* | can consolidate my understanding of the work this week.



Watch this video by clicking on the link to consolidate your
understanding of the work this week.

https://www.youtube.com/watch?v=pkGJfwf 7g8&feature=emb |
0go

It might also be useful to look again at some of the video from the
other powerpoints used this week.


https://www.youtube.com/watch?v=pkGJfwf_7q8&feature=emb_logo

Complete the consolidation booklet.



« Can you review your learning?

« Can you explain to others how to solve fraction of amount
calculations?



